% 350 B AR R1008 5 L8 4 2 R

A3k 350
Rz% /£ R

L R BE RIS 4 ERLRE2 Q (10%)
2. K 4 48 F AR A K LB IR AA 2 A ? (10%)

&mi%%%ﬁﬁ@ﬁ%ﬁwﬁﬁﬁﬁﬁéﬁﬁ?wm
wﬁﬁiﬂ%%ﬁ%%ﬂ’ﬁﬁ%%ﬁ&%?@%

LARAABIER R FERBE2RER ? (10%)
O ATHM M (Stirling) 31 % > 4B ERNALER F £ 2 (10%)

6.a) B3| e EE BT 2 (5%)
b) = 3% A TEFmPTOMZREZ R LT HmE ? (5%)

T.a)ARE H
2

—REBZ BHEMAR 2 (5%)
bk B s = %

iAol EAmEsE ? (5%)

8.a)Bhel BATE#H? (5%)
DBEBEA GRBIHE LS HERA OBRETRR? (5%

. F&HB AKX ETERBRERESR  H— R BE A
SRMAEEECHEA?FABELE AL ESAREE -
RILRARFRERMGE D - (10%

10. B3R R X ARGH UGS - i 54552 LA 0
iz e ? (10%)

AR A4




